
2021	TJSSA	State	Futurity	
Genetic	Evaluation	Quiz	

Junior	Division	
	
You	have	60	minutes	to	complete	this	quiz.	Questions	31	through	35	are	tiebreaker	questions.	Further	ties	will	be	broken	by	order	of	finish.	
For	each	question,	choose	the	best	answer.	
	

1. What	does	EPD	stand	for?	
a. Estimated	Pedigree	Data	
b. Evaluated	Performance	Details	
c. Economic	&	Profit	Direction	
d. Expected	Progeny	Difference	

	
2. High	EPD	accuracies	can	be	achieved	through:	

a. genomic	testing	
b. progeny	reports	
c. ultrasound	data	
d. All	of	the	above	

	
3. According	to	Beef	Improvement	Federation	(BIF)	standards,	when	should	you	weigh	a	newborn	calf?	

a. Within	2	hours	of	birth	
b. Within	12	hours	of	birth	
c. Within	24	hours	of	birth	
d. Within	48	hours	of	birth	

	
4. SimAngusTM	Cow	622	has	a	CW	EPD	of	41.9.	SimAngusTM	Cow	715	has	a	CW	EPD	of	34.8.	Based	on	this	information,	which	of	the	

following	statements	is	definitely	true?	
a. You	should	expect	Cow	622	to	produce	offspring	with	heavier	actual	carcass	weights,	on	average.	
b. You	should	expect	Cow	622	to	produce	offspring	with	heavier	adjusted	weaning	weights,	on	average.	
c. You	should	expect	Cow	622	to	produce	offspring	with	better	USDA	Yield	Grades,	on	average.	
d. All	of	the	above.	
e. None	of	the	above.	Terminal	EPDs	only	apply	to	sires.	

	
5. Research	done	by	________________________	allows	breeders	to	compare	EPDs	across	breeds.	

a. International	Genetic	Solutions	(IGS)	
b. American	Simmental	Association	(ASA)	
c. US	Meat	Animal	Research	Center	(USMARC)	
d. Beef	Improvement	Federation	(BIF)	

	
6. Which	of	the	following	phenotypes	is	reported	to	ASA	the	most?	

a. Weaning	Weight	
b. Mature	Cow	Weight	
c. Docility	Score	
d. Birth	Weight	

	
7. What	ASA	program	focuses	on	gathering	genotype	information	on	all	the	females	within	individual	herds,	in	order	to	improve	

genomic	evaluations	and	increase	genetic	progress?	
a. Cow	Herd	Roundup	(CHR)	
b. Total	Herd	Enrollment	(THE)	
c. Progress	Through	Performance	(PTP)	
d. HerdBuilder	(HB)	

	
8. Which	of	the	following	is	the	least	likely	to	experience	dramatic	change	in	its	EPDs	and	indexes?	

a. An	animal	with	EPDs	that	are	closest	to	breed	average	
b. An	animal	that	has	been	genomic	tested	
c. An	animal	with	high	EPD	accuracies	
d. An	animal	whose	calves	have	the	best	ratios	in	their	contemporary	groups	

	
9. In	what	situation	should	a	breeder	definitely	place	more	emphasis	on	EPDs	for	his	mating	decisions?	

a. He	wants	his	cows	to	produce	more	black	calves.	
b. He	wants	to	reduce	the	birth	weights	of	his	calves.	
c. He	wants	to	sell	more	show	heifers	to	local	4-H	and	FFA	members.	
d. Some	of	his	cows	are	potential	genetic	defect	carriers,	and	he	doesn’t	want	their	calves	to	be	affected.	



For	questions	10	through	19,	refer	to	the	following	sires.	Information	on	these	bulls	can	be	found	on	the	last	sheet	of	your	quiz.	
	

A. Double	Bar	D	Annuity	635F	
B. GSC	GCCO	Dew	North	102C	
C. SAS	Copperhead	G354	
D. THSF	Lover	Boy	B33	
E. WHF/JS/CCS	Double	Up	G365	

	
10. Which	bull	should	you	expect	to	produce	offspring	with	the	heaviest	205-day	weights,	on	average?	

11. Which	bull	is	also	registered	with	the	Canadian	Simmental	Association?	

12. Which	bull	should	you	expect	to	produce	daughters	with	the	highest	percentage	of	unassisted	births	as	first-calf	heifers?	

13. Which	bull	is	the	most	likely	to	be	tested	for	the	diluter	gene?	

14. How	many	of	these	bulls	are	better	than	breed	average	for	direct	Calving	Ease?	
a. 1	
b. 2	
c. 3	
d. 4	
e. 5	

	
15. What	is	the	paternal	grandsire	of	Bull	A?	

a. W/C	Bankroll	811D	
b. JF	American	Pride	0987X	
c. CNS	Dream	On	L186	
d. CCR	Wide	Range	9005A	
e. W/C	Loaded	Up	1119Y	

	
16. What	is	the	possible	change	of	Bull	E’s	CE	EPD?	

a. 4.6	
b. 4.0	
c. 4.1	
d. 16.0	
e. Not	enough	information	is	available.	

	
17. True	or	False:	Bull	E	likely	needed	to	be	DNA	tested	to	determine	that	he	is	homozygous	black	and	homozygous	polled.	

a. True	
b. False	

	
18. Which	of	the	following	statements	about	Bull	B	and	Bull	C	is	true?	

a. Bull	B	likely	has	more	progeny	reported	to	ASA.	
b. Bull	C	should	produce	a	higher	percentage	of	daughters	that	remain	in	the	herd	until	at	least	6	years	of	age.	
c. Both	bulls	should	sire	offspring	with	more	USDA	Yield	Grade	1	carcasses	than	breed	average.	
d. All	of	the	above	are	true.	
e. Only	A	and	B	are	true.	

	
19. Within	Contemporary	Group	4,	five	bull	calves	sired	by	Bull	A	have	an	average	WW	ratio	of	94.	Bull	D	sired	three	bulls	in	the	same	

contemporary	group.	What	would	you	expect	of	their	WW	ratios?	
a. The	bull	calves	sired	by	Bull	D	should	have	a	lower	average	WW	ratio.	
b. The	bull	calves	sired	by	Bull	D	should	have	a	higher	average	WW	ratio.	
c. The	bull	calves	sired	by	Bull	D	should	have	a	similar	average	WW	ratio.	
d. None	of	the	above.	A	contemporary	group	cannot	contain	multiple	sire	groups.	
e. None	of	the	above.	A	contemporary	group	must	contain	equal	numbers	of	calves	for	each	sire.	

	
20. A	3/4	Simmental	1/4	Angus	heifer	is	bred	to	a	1/2	Simmental	1/2	Angus	calving	ease	bull.	What	will	be	the	breed	composition	of	

the	resulting	calf?	
a. 1/2	SM	1/2	AN	
b. 5/8	AN	5/8	SM	
c. 5/8	SM	3/8	AN	
d. 3/4	SM	1/4	AN	

	
	
	



21. Purebred	Bull	X	has	a	BW	EPD	of	1.5.	Purebred	Bull	Y	has	a	BW	EPD	of	-1.5.	Based	on	this	information,	which	of	the	following	is	
definitely	true?	

a. Bull	X	should	sire	heavier	calves	at	birth,	on	average.	
b. Bull	Y	should	sire	heavier	calves	at	birth,	on	average.	
c. Bull	X	should	produce	a	higher	percentage	of	unassisted	births.	
d. Bull	Y	should	produce	a	higher	percentage	of	unassisted	births.	

	
	
For	questions	22	through	27,	use	the	graphic	below.	

	
	

22. If	you	breed	your	favorite	red	cow	to	this	bull,	what	is	the	likelihood	that	she	will	have	a	red	calf?	
a. 100%	
b. 75%	
c. 50%	
d. 25%	
e. 0%	

	
23. This	bull	ranks	in	the	10th	Percentile	for	API.	What	does	this	mean?	

a. His	API	is	likely	to	change	by	as	much	as	10%.	
b. His	API	is	likely	to	change	by	as	much	as	90%.	
c. His	API	is	better	than	10%	of	the	breed.	
d. His	API	is	better	than	90%	of	the	breed.	

	
24. True	or	False:	This	bull	has	been	qualified	through	DNA	to	both	his	sire	and	dam.	

a. True	
b. False	

	
25. Which	of	the	following	EPDs	for	this	bull	is	the	least	likely	to	change	significantly?	

a. Marbling	
b. Milk	
c. Maternal	Calving	Ease	
d. Birth	Weight	

	
26. Compared	to	breed	average,	you	would	expect	this	bull	to	produce	offspring	that	are:	

a. lighter	at	weaning	
b. heavier	at	weaning	
c. similar	in	weight	at	weaning	
d. Not	enough	information	is	available.	

	
27. This	bull’s	first	calves	were	born	in	2020.	What	year-letter	is	included	in	their	tattoos?	

a. F	
b. G	
c. H	
d. I	



28. SimAngusTM	Bull	G365	has	a	Marbling	EPD	of	0.26.	SimAngusTM	Bull	F88	has	a	Marbling	EPD	of	0.56.	Based	on	this	information,	
which	of	the	following	statements	is	definitely	true?	

a. Bull	G365	should	produce	offspring	with	a	higher	percentage	of	USDA	Yield	Grade	1	carcasses.	
b. Bull	F88	should	produce	offspring	with	a	higher	percentage	of	USDA	Yield	Grade	1	carcasses.	
c. Bull	G365	should	produce	offspring	with	a	higher	percentage	of	USDA	Prime	carcasses.	
d. Bull	F88	should	produce	offspring	with	a	higher	percentage	of	USDA	Prime	carcasses.	

	
29. Which	EPD	evaluates	the	percentage	of	unassisted	births	in	an	animal’s	first-calving	daughters?	

a. CE	
b. CED	
c. MCE	
d. STAY	

	
30. A	commercial	breeder	is	turning	out	her	heterozygous	black	herd	sire	with	a	group	of	33	open	females.	9	of	these	females	are	

homozygous	black,	20	are	heterozygous	black,	and	4	are	red.	Assuming	100%	conception	and	all	single	births	(no	twins),	how	many	
black	calves	should	the	producer	expect	to	have?	

a. 19	
b. 26	
c. 29	
d. 31	

	
	
TIEBREAKER	QUESTIONS	
Questions	31	through	35	are	tiebreaker	questions	only.	
	

31. What	is	the	minimum	DNA	testing	requirement	when	registering	ET	calves	for	which	you	are	not	the	breeder	or	co-breeder?	
a. Cow	Herd	Roundup	50K	(CHR50K)	
b. GeneSeek®	Genomic	Profiler	-	High	Density	(GGP-HD)	
c. Parent	Verification	(PV)	
d. Parent	Verification	(PV)	+	Genetic	Defect	Testing	

	
32. In	what	year	was	the	first	Simmental	Sire	Summary	published?	

a. 1971	
b. 1981	
c. 1991	
d. 2001	

	
33. Refer	to	the	bulls	you	used	for	questions	10	through	19.	

On	a	per	cow	basis,	how	much	more	valuable	is	Bull	D	than	Bull	A	when	used	in	a	program	that	retains	select	replacement	heifers	
and	all	other	calves	are	fed	out	and	sold	on	grade	and	yield?	

a. $22.00	
b. $29.00	
c. $35.70	
d. $57.70	

	
34. Your	Purebred	Simmental	donor	dam	has	a	Stayability	EPD	of	17.7.	Based	on	the	information	available	to	you,	you	can	determine	

that	she	ranks	in	the	__________	for	this	trait.	
a. Top	10%	
b. Top	30%	
c. Top	50%	
d. Top	70%	

	
35. When	an	animal	is	first	registered	with	ASA,	it	is	given	________________	until	the	next	BOLT-based	genetic	evaluation	is	

completed	and	official	EPDs	can	be	calculated.	
a. Estimated	Breeding	Values	
b. planning	mating	EPDs	
c. estimated	EPDs	
d. interim	EPDs	

	
	
	

	
	



	
	
	
	

	
	
	
	

	
	
	



	

	
	
	
	

	


